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g |O AHEeETAEH 23,500nf (83 5,761nf) | 23,5000t (AHZ 5,761nf)
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A 0 A 216,585
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O =B L0 T e o = )
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Al 1,569,314 M| f-F 5238 AEAdedg 0
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AEIAETY pneanzaea| 150314 | aaw | AT 0
R 0| "TNSR | A 0
B AR G o= 0 AFs 5 0
7 15,153,467 A 0
SRR ALY | 15153467 ~| AadrEs 0
U’I_/_vl-.__g_ 0 715}1}%3-11]? O]Q-IHH%% 0
A 0 7IEpAE AR = 0
AeAEA 5[ AFAEAFY O 7 0
o ¥ 8 0
4 A 16,722,781 <t A 12,448,877
z < (A-B) 4,273,904
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Y Av+dA8

A a7

T P T o] A <(A) A AFeIE) Z7HA-B)
T U A=A 86,520,550 73,142,042 13,378,508
A 69,347,769 49,934,456 19,413,313
AL T4 0 0 0
A A Y 0 0 0
FHETY SALFA A 24,466,400 5,436,000 19,030,400
o 3 AL 2= 9] 41,969,412 40,768,436 1,200,976
FO A Y 0 0 0
REE S 2,911,957 3,730,020 818,063
Al 450,000 500,000 50,000
o AF2=9] 150,000 100,000 50,000
AER =Z9 300,000 400,000 100,000
FEAAA Bl 0 0 0
et 49+ 0 0 0
A 0 0 0
518 0]9] A7]E 4ol 0 0 0
T RE 0 0 0
A 0 0 0
= . A3y 0 0 0
FARAE s zacyneg 0 0 0
7 Bt E R A2 ZHE Y 0 0 0
Al 0 0 0
EAGFY 0 0 0
o a1 ALt a A4 0 0 0
FRAMAL amRmaEd 0 0 0
Ak uf] ZF 9 0 0 0
71T Ed Y 0 0 0
A 0 0 0
o e e 0 0 0
"IT%‘%LZHT?:]I %7] i}?j:ﬁhﬁ,‘—?:] 0 0 0
BB R 0 0 0
A 0 0 0
AU FTY 0 0 0
o =1 5] 0 =572 =Y 0 0 0
IR R TR 29 0 0 0
=AU FF Y 0 0 0
Z1ee G5 EA Y 0 0 0
A 1,569,314 1,658,179 /188,865
ANABETHFFY 0 0 0
ol o1 AR ZTSY 0 0 0
AEINETY g azzad 1,569,314 1,658,179 88,865
FEF 0 0 0
e AR o F 0 0 0
A 15,153,467 21,049,407 5,895,940
SEAZ ERAdS=Z 15,153,467 21,049,407 5,895,940
S 0 0 0
o A 0 0 0
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AAS o 4k}

T22 wasdgaw| 9= A8 saap
%728 3,520,550 | 73,142,042| 13,378,508
A 45,170,765 | 44,367,434 803,331
i &7t 0 0 0
2173H] 15213370 | 13,878,644 1,334,726
Y AFREE 18,996 37,807 AT8811
Hl§ BA7A 25750.097|  26,160202|  A401,105
7o AL 0 0 0
wAEREREE| L7842 1,330,689 397,735
ol Sh ] 2,450,878 2960092 | A509,214
71E+E A nl & 0 0 0
A 300,000 100,000 A100,000
SPpRIaT 7‘]’4‘1’%}%—{‘—’% 0 0 0
AR RS 0 0 0
71EFg 2 v] & 300,000 400000|  A100,000
A 10,802,353 | 11146127 |  A343774
agans | EAEAAGY 0934353 | 10278127  A343774
s 868,000 868,000 0
A 1,429,939 1,179,149 250,790
B
N E AR AT 1,429,939 1,179,149 250,790
A 216,585 620,182 | AA03,597
R AARA 0 0 0
Aoty 0 331,000 | A331,000
E e 216,585 289,182 AT2,597
X Al 0 0 0
LA peTr 0 0 0
A 28,600,908 | 15429150 | 13,171,758
o] B 1] o) 3 AFd o] B w 100,000 100,000 0
A F o]l 28500908 | 15,329,150 | 13,171,758
A} (A’-B) 0
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YA datEFEE R

A o 4 A-Bof 2F AaE%

THAQ) | 42,269,412 SUAQA’ ) | 1,569,314 +AAA” ) | 43,838,726
<] 41,969,412 FHF 41,969,412
dd459 300,000 AT 300,000
E150] 9] 0 =N 0
O S R 0| FAAAE 0

T A AR E 0| FIFADAHE 0

Z1EH] -5 A E 0| 71EbEl -5 X & 0

ATy 0| feFd+y 0

H] -5 53 4 0| ¥l-FE5rA44 0

ARYAFF | 1,569,314 | AR F9] | 1,569,314

EH AL A F 0 AHEYLAFTY 0

7 e} AR A =4 0| 71EFAF 2 429 0

AEAMB |42269,412) XEA®’ ) | 1,569,314| A&AB” ) |43,838,726

R LIRS 41,869,412 Bl & 41,869,412
L ulg 300,000 IR 300,000
Ed44 0 Edsd 0
HRAA S 0 LRI RS 0
EZ} A4t 1,357,079 | BxpAAT 1,357,079

@ A4 212,235 | -3 A4 212,235

TG A4k 0| F-@ A4k 0

e A e 0| fa5-33a 0

Al -5 8 0 | V-5 5A 3= 0

AR A A E 0| 7EtREHAE 0

oh 3 ALY of 1] 1] 100,000 | fjujn] 0| o At e ulH 100,000
Z2A(A-B) 0| &A@’ -B”) 0| 2<2UA” -B”) 0
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HPAY AT ER

F 9 o B @ H & ¢ R (B
AR = o] Akef AR = o2ty
A 41,969,412 Al 41,869,412
8 2w 4] 0 e 0
{171 14,468,523
Qe AL o 0
AT HAAgReE 18,99
T Ao BEAYSY 0% A H & A4AN 25,759,097
thaAtdre] | 41,969,412 7o 8 AF o v 0
g s WhrgnEs 1,622,796
AT 0 o ] e ] 0
71 et 4] 0 71 EFg & v & 0
Al 300,000 A 300,000
o AFoIA &
o] Z}4=¢] 0 g‘lqusg;q}a] 0
o o) o] 2=0] [ERIARLTFY] 0| FHATE | gagqapen 0
AR R ZF0] 300,000 FEA AN R 0
xR o] 0 ZEtg G S 300,000
71k 9 5] 0 A 0
A 0 HA| &4
! e &4 0
E1o|9] |drlEelsgele] 0 G PO R RS 0
F1EE o] o] 0 7EeEEE 0
Al 100,000
o Ml W [
e A HE 100,000
E2 Al 42,269,412 oF A 42,269,412

Z < (A-B)
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PA A EdAEFE R

o o 2 @) Mg o %@
AR 5 = 9 A A A= = 9
7 0 7 1357079
_ ) STSEE Py 0l - e ST 0
FAAuAE | TUEAT R )| FARRAS 25 .
FeREA A 244 0 71EFEAA4E | 1,357,079
A 0 Al 212,235
EA 2124 0 =4 )
o A2 74 0 1= 0
[e] '6:1 ‘_'!?'I__
FRALAEL | Ry 0 Az 0
PR 3 PN 0| fgnzs | Tzz 0
37| 78] E v 2] 0 7172 0
7 0 AT 0
o o M FF49] 0 F7| ol F 212,235
FEFATH | oo zay 0 ) Ere B A 0
R Py 0 A 0
A 0] msrrm o P 0
PEET e o] TRAEHAS | isega 0
N s -t e 0 AR 2 0
FAA 5 ) —— 7 0
RSP RS E BN 0 ST =] 0
R e Py 0 7 0
7 1,560,314 | M1 22 A 4 AR 0
NHAES =29 0 S SIS 0
ST RSl 0 Al 0
_1-1;__0] A0
AERATTY | gmanzas| 156034 | g | RAE 0
R o TV | smaa)ae 0
e o2 0 Hez = 0
A 0 7 0
SR FZAAGS = 0 [ manas 0
EE o [THARAAD Gogua 0
7 0 T ERR A 0
7 EfA R 2] e 7 0
A EA 24 0|  eqmm PRE ;
& A 1,569,314 . 1,569,314
2} 4 (A-B) 0
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QALY A+ ISAE

2 A
) —
T2 o = o g 2 (A) @%§§§% =7{A-B)
FAAZAD) 43.838.726 12.826.615 1012111
A 41,969,412 40,768,436 1,200,976
SR 0 0 0
PEREEE 0 0 0
FHTY T ALY 0 0 0
o S ALE 41,969,412 40,768,436 1,200,976
F A 9] 0 0 0
ZIeFE 9 0 0 0
A 300,000 00,000 100,000
BEEs 0 0 0
o419 50 Bl AA YT 0 0 0
Q) i 0] 300,000 400,000 100,000
FHA A 0] 9] 0 0 0
71 e} B o 2] 5=¢] 0 0 0
A 0 0 0
SERE BE 54 0 0 0
71 EH5g el 9 0 0 0
A 0 0 0
o] F8] 59 0 0 0
AT o easansy 0 0 0
7V} F- A 22 2F 4 ¢ 0 0 0
Al 0 0 0
EAm 4 0 0 0
o ot Lot i AENTFY 0 0 0
FIAYAT SomRag g 0 0 0
e e el PR 0 0 0
7] FulF Ay 0 0 0
Al 0 0 0
o A5 0 0 0
FERATY T armuEey 0 0 0
7 Eb- A 4= 0 0 0
A 0 0 0
FEELEED 0 0 0
NgERAsrd [ FeRANEry 0 0 0
ZgAYZd 0 0 0
ZVEME] f-F 52 4= 0 0 0
A 1.569,314 1,658,179 /88,865
Al B BGF4 0 0 0
Zmo HIUNZFTY 0 0 0
ARLAETY T Rgdaz=ag 1,569,314 1,658,179 88,865
BrEE 0 0 0
ZVEFAF R o F 0 0 0
A 0 0 0
FRAS A A YA Z 0 0 0
u] < 0 0 0
A 0 0 0
SRR A 2] ﬂawéaéﬂ : ; -
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AdE g [
FE gazdgaw| P55 A8Y T 2a0-p
A 2A2BY 43,838,726 42,826,615 1,012,111
A 41.869.412 40,668,436 1,200,976
] &4 7t 0 0 0
Q17 1] 14,468 523 13,230,536 1937987
R o 18,996 37.807 Al18.811
S ERE 77 ] 95,759,097 26,160,202 A401,105
7 o) Y AL H] 0 0 0
BlERda T 1,622,796 1.239.891 382,905
vhoj 1] 2} 34-2] 1] 0 0 0
ZIEld g Hl & 0 0 0
7 300,000 400,000 A100,000
o 4 AALZE R =] 0 0 0
3]

IH TR A B 0 0 0
e < 9] ] & 300,000 400,000 100,000
A 1,357,079 1,040,997 316,082

E A} A4
SR R Ak 1,357,079 1,040,997 316,082
A 212,235 617,182 404,947
7 A B 0 0 0

A
<}k 9 uF - 0 331,000 331,000
T = 212,235 286,182 AT3.047
A 0 0 0

B A4
223 E 9] o] 0 0 0
A 100,000 100,000 0

e ] ) :
o 3 AL o 1] ] 100,000 100,000 0
SEIN:D 0
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I
O %9
(el . A4
% ¢ AT = e | aua | ® 2
600 A-i4<] 42269412 41,168,436 1,100,976
610 Fd5] 41,969,412 40,768,436 1,200,976
623 il ALH 5] 41,969,412 40,768,436 1,200,976
623-01 A A Heju =) 41,969,412 40,768,436 1,200,976
0 Aldaz| TP AL G 49 41,969,412 40,768,436| 1,200,976
670 B Q5] 300,000 400,000 A100,000
673 AR R =249 300,000 400,000| 100,000
673-0 AX|gA BT 300,000 400,000 A 100,000
o A" Rxg 300,000 400,000 A100,000
O AEFHFY
s S I B
% % A% = ey S | 22
100 AEHEY 1,569,314 1,658,179| 88,865
170 ALAFEY 1,569,314 1,658,179 88,865
174 R2F54 1,569,314 1,658,179| 88,865
174-03 AA DA RE=FF Y 1,569,314 1,658,179| /88,865
o gAY A5 1,569,314 1,658,179 88,865
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12. QPAIY FEAESEA]






CHAAIY S8 XM

Rl L AtE
B 43,838,726 42,826,615 1,012,111 243,455
700 AtRIBIS 42,269,412 41,168,438 1,100,676 212,255
710 SAHIS 41,869,412 40,668,435 1,200,976 212,255
722 CHE AR HI 41,867,012 40,666,035 1,200,976 212,255
101 Q12| 14,468,523 13,230,536 1,237,987 0
108 S Feizve3 18,996 37,807 £18,811 0
201 gerady] 3,193, 196 3,284,885 A91,689 134,892
202 OfH| 358,720 394,000 A35,280 10,080
203 PR EAY| 28,000 28,000 0 1,000
208 Ml 3,541,941 3,541,941 0 0
207 Q1| 0 88,000 488,000 0
212 22|54l 3,428,631 3,076,872 351,759 2,400
213 DR EH| 56,683 66,593 £9,910 53,683
214 +H R HE| 7,360,924 7,815,049 A485,005 | 3,000
215 S| 7,078,577 7,078,577 0 0
218 @A - Z2H| 12,900 12,900 0 0
217 BAALHI 69,680 70,610 A930 1,200
218 BIISUHUIS 1,622,796 1,239,891 382,905 0
220 IS 22| Hl 142, 100 211,210 AB9,110 0
301 A 448,745 425,165 23,580 0
303 L2 11,500 33,500 A22,000 6,000
305 BIAES 1,200 1,200 0 0
306 EE2 23,900 28,400 A4,500 0
725 AB M| 2,400 2,400 0 0
233 AEMHLLI 2,400 2,400 0 0
EEELE 300,000 400,000 A 100,000 0
779 JIEFE QI QIHIS 300,000 400,000 A 100,000 0
301 YuEAa 300,000 400,000 £100,000 0
800 OlHIHI 100,000 100,000 0 0
801 oflultl 100,000 100,000 0 0
801 CiHIH| 100,000 100,000 0 0
200 XHEE XIS 1,569,314 1,658, 179 288,865 31,200
220 SRAAHEHS 1,357,079 1,040,997 316.082 0
229 DIEFS XiRH&H 1,857,079 1,040,997 316,082 0
NEEREEEF 1,367,079 1,040,997 316,082 0
230 REXLHS 212,285 617,182 A404,947 31,200
e e 0 331,000 A331,000 0
A05 XHeHESHIS 0 331,000 A331,000 0
237 BIIPHIE 212,235 286,182 AT3,947 81,200
405 RHIFSHIS 212,235 286, 182 A73,947 31,200
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CHEAIY S8 X|m=AM

(et9) ; 42
Caaxae | weang | M ”“(\Liﬂ;a' o Assgany

Eal 1,098,891 12,785,907 757,576 378,317

700 MEHIE 1,092,891 11,428,478 749,976 369,417
710 Sebl S 892,891 11,428,478 749,976 369,417
722 CHEE A 992,891 11,428,478 749,978 369,417
101 giAH| 0 7,977,376 521,991 39,779

108 ElAHAZR2HF 0 18,895 0 ¢

201 L2l 216,536 119,471 44,287 43,757

202 o 22,480 11,760 25,200 0

203 Y S =AM 15,900 1,000 1,000 0

206 M=Hl 0 0 96,470 74,515

207 S o0 | 0 0 0 0

212 Sl MH| 321,440 2,318,390 7,040 0

213 ws=#d| 3,000 0 0 0

214 =& R/ A LAY 0 1,450 30,800 92,728

215 S84l 0 0 9,798 115,638

216 A - EEY| 9,700 0 ¢ 0

217 2K 2| 21,880 2,100 4,800 0

218 HIIS¥HIU=S 0 877,835 0 0

220 fIE22/H| 81,710 0 8,720 3,000

301 B2 A= 269,545 0 0 0

303 Za= 5,500 0 0 0

305 HHat=S 1,200 0 0 0

306 £43 23,900 0 0 0

726 A S0l 0 0 0 0
233 =0 0 0 0 0

70 g bl & 0 0 0 0
779 JIEM I & 0 0 0 0
301 2EEAZ 0 0 0 0

800 OBl 100,000 0 0 0
801 dlBlyl 100,000 0 0 0
801 oliidl 100,000 0 0 4

200 A2=AE 6,000 1,357,429 7,600 8,900
220 EXAAHES 0 1,367,079 0 0
229 JIEFE Rt RH&t ¢ 1,357,079 0 0
511 S22 232 0 1,357,079 0 0

23 BRAF S 6,000 350 7,600 8,900
236 AEEdr 0 C 0 o
405 THHHSEIS 0 0 0 0

237 32|17 HIE 6,000 350 7,600 8,900
405 NAHRSHIS 6,000 350 7,600 8,900
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CHAEAIY SE X&E=M

GRS

‘MsANgEE | dsaEvE | Meagie | AsAaal

(NeHsEd) |(FaRaN=R) | (351201F) | (2usus)

B Al 231,854 51,258 129,579 55,902

700 AtBIS 228,454 47,758 129,579 49,902
710 Hed| = 228,454 47,758 129,578 49,902
722 CHEH AR ] 226,054 47,758 129,578 49,802
101 21| 57,215 0 29,863 0

108 E&SZRE=2 0 0 0 0

201 LHtE | 26,889 10,950 8,186 13,792

202 Ofb| 0 0 0 0

203 SR EEH| 0 0 0 0

206 A=l 19,200 3,500 13,800 2,400

207 ALY 0 0 0 0

212 Zo|= M| 0 0 0 D

213 DREHH] 0 0 0 0

214 =12 X D HH] 59,850 14,748 43,250 11,070

215 =i 58,500 18,560 34,480 22,640

216 BAF - EEH] 0 0 0 0

217 2 A EZ2 8| 0 0 0 0

218 Eils¥du=2s 0 0 0 0

220 SRR H 0 0 0 0

301 YHEIE &S 4,600 0 0 0

303 a3 ¢ 0 0 0

305 Ha=SE 0 0 ¢ 0

306 £33 0 0 0 0

726 2=0Held| 2,400 0 0 0
233 AE0Hdl 2,400 0 0 0

770 GelolHl S 0 0 0 0
779 JIErIRIOlHIS 0 0 0 0
301 YrEAE 0 0 0 0

800 OiibiE| 0 0 0 0
801 Ol BIHi 0 0 0 0
801 Ol HIH] 0 0 0 0

200 A=EEXE 3,400 3,500 0 6,000
220 EXRHLAS 0 0 0 0
229 J|EFERFRFAF 0 0 0 0
511 ElElgIZ2EEZ 0 0 0 0

230 FEANMFS 3,400 3,500 0 6,000
236 AP 0 0 0 0
405 TtAESHIS 0 0 0 0

237 SIS 3,400 3,500 0 6,000
405 T SHIS 3,400 3,500 0 6,000
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CHAEAIYE S8 XlE=AM

(@205 5%| Aann (xjj;ge;gj) Jaizoze

USHIBR) | g e HSHE)
A 568,962 200,000 100,000 633,201
700 AFRHHIE 577,162 200,000 100,000 600,001
710 SgHE 577,162 0 0 600,001
722 CH&HAFRIH] 577,162 0 0 600,001
101 el2id| 362,030 0 0 109,297
108 ElZ SRS 0 0 ] 0
201 £HEIEEH| 47,162 0 0 82,112
202 04| 0 0 0 20,160
203 RFEEH 0 0 0 800
206 M =dl 21,820 o 0 145,870
207 HSOHRH| 0 0 0 0
212 Stl=4y| 0 0 0 12,060
213 uSEgH| 0 0 0 0
214 =8 F AWM 89,500 0 0 79,800
216 SEH| 56,650 0 0 120,512
216 &AL - EE2H| 0 0 0 1,200
217 ZAIL 24| 0 0 H 4,200
218 BIISH4HUSE ] 0 0 0
220 S =2t 0 0 0 0
301 itEat= 0 0 0 24,000
303 ZA=2 0 ¢ 0 0
305 Hi& =S 0 0 0 0
306 242 0 0 0 ¢
726 AE0HY | 0 0 0 0
233 A S0y 0 0 0 0
770 HELHIE 0 200,000 100,000 0
779 J|EtE A A2 0 200,000 100, 000 0
301 2 ag 0 200,000 100,000 0
800 OffHIH| 0 Y 0 0
801 CGlidlbl G 0 0 0
801 OllHIHI 0 0 0 0
200 A=A E 19,800 0 0 33,200
220 EXAAH S 0 0 0 0
229 J|EF SRR 0 0 0 0
511 g2 EBZ 0 0 0 0
230 REMLHS 19,800 o 0 33,200
236 XIE28t3 0 0 0 0
405 HMFSHE 0 0 0 0
237 I FUHIS 19,800 0 0 33,200
405 AHeHE SHIE 19,800 0 0 33,200
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(H%Mfﬂ%
agagady | g?fﬂfﬂﬁ seAmzug aa( a“a‘i )’

3 658,789 118,722 803,262 5,495,949

700 AFHHIE 621,067 118,022 793,864 6,495,349
710 HIB 621,067 118,022 793,864 6,495,349
722 CHE AFLIH] 621,067 118,022 793,864 6,496,349
101 I 24H] 64,730 0 85,641 5,197,016

108 EEBRES 0 0 0 0

201 U2 o Hi 93,687 24,272 284,247 0

202 OGiH 26,880 0 23,520 0

203 IR EFH] 800 0 800 0

206 M= 4 167,610 5,400 89,090 0

207 &N H] 0 0 0 0

212 2| S A 13,780 0 12,580 654,472

213 DS 0 0 0 0

214 =M X Wk 64,730 12,000 93,445 0

215 SaiH| 156,690 15, 150 136,301 0

216 AL - SEH| 0 0 2,000 0

217 REM QS 4,800 0 4,200 0

218 BOISUH DTS 0 0 0 644,861

220 9 EHEIH| 0 0 0 0

301 YPEAS 27,360 61,200 62,040 0

303 ZTAS 0 0 0 0

305 HhAIRE 0 0 0 0

306 == 0 0 0 0

726 A0 H] 0 0 0 0
233 ALE D HI 0 0 0 0
770 AQIQHIB 0 0 0 0
779 JIEFH 2IQH| B 0 0 0 0
301 YPLAD 0 0 0 0

800 OiiBibl 0 0 0 0
801 Ol HlH] 0 0 0 0
801 Oflb{H 0 0 0 0

200 HEEK S 37,722 700 9,398 0
220 EXHKHAHE S 0 0 0 0
229 3| EFE KAHAF 0 0 0 0
511 5= iD= 0 0 0 0

230 B XAHS 37,722 700 9,398 0
236 KRR 0 0 0 0
405 XHAHE SHIS 0 0 0 0

237 BI|PHI= 7,722 700 9,398 0
405 NS S 37,722 700 9,398 0
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(Eh2l : H )
'xﬂéggéj -é%%%%i }Qgéga %ii:f:
SBUE(S) | SBUE(ES) | 2auE@S) | JST0
El 4,877,422 2,850,226 275,673 1,935,390
700 AtHBIZ 4,874,522 2,850,226 273,373 1,933,390
710 SEHIE 4,874,522 2,850,226 273,373 1,933,390
722 THES A HI 4,874,522 2,850,226 273,373 1,933,390
101 212 0 23,585 0 0
108 EAHSRES 0 0 0 0
201 HEHZ S| 415,651 271,127 60,166 216,707
202 ¢id| 34,200 32,400 0 20,160
203 SR =& BOO 800 0 800
206 R =H! 862,078 444 528 30,491 184,709
207 &I EHH| 0 0 0 0
212 SC|F 4| 11,036 9,576 0 12,910
213 nFEHL| 0 0 0 0
214 =& S X WA 1,378,950 746,108 106,200 751,560
215 S&4 2,167,607 1,317,901 76.516 703,544
216 #Al - E2H| 0 0 0 0
217 ARyl 4,200 4,200 0 3,000
218 BloisH4du=s 0 0 0 0
220 Il 0 0 0 0
301 HEEAS 0 0 0 0
308 E&= 0 0 0 0
305 HHa2s 0 0 0 0
306 == 0 0 0 0
726 at=0Hel 0 C o 0
233 & 302bl 0 0 0 0
770 HHLIHIE 0 0 0 0
779 JIEIEEQHIS 0 0 0 0
301 gHEHS 0 0 0 0
800 Olibldl 0 0 0 0
801 OlWlHI 0 0 0 0
BO1 olbid 0 0 G 0
200 AEFHXE 2,900 ¢ 2,300 2,000
220 ENAAFH S 0 0 0 0
228 DIEFE R RH& 0 0 0 0
511 SRS EES 0 0 0 0
230 REXNHSE 2,800 0 2,300 2,000
236 ItErEEy 0 0 ¢ 0
405 A& SEHIS 0 0 0 0
237 21788 2,900 0 2,300 2,000
405 X&ESHIS 2,900 0 2,300 2,000
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CHAAIY SE AE=AM

(ehel: He
sgges | o msmes | mmxes | smses

sEE | 2EHE(EY) | e B (&) 'a@m(@a)

&1 2,506,969 870,952 491,163 257,342

700 AtelHI = 2,494,969 870,952 489,163 257,342
710 eIH| & 2,494,969 870,952 489,163 257,342
722 AR 2,494,969 870,952 488, 183 257,342
101 9124 Hl 0 0 0 0
GEEEEEEE 0 0 0 0

201 ety 269,946 62.622 210,666 44,840

202 44| 43,200 0 45,000 0

203 & 2= 1,000 0 1,000 0

206 M=l 292,655 96,810 42,028 15,202

207 &N 0 0 0 0

212 =iE M| 19,152 0 13,629 0

213 WEEHH| 0 0 0 0

214 +ERXNDHB 1,102,336 333.504 95,800 121,700

215 S| 762,480 378,016 75,240 75,510

216 BAH - B 0 0 0 0

217 2 A Y| 4,200 0 4,800 0

218 EOIBUA WSS 0 0 0 0

220 2Ll 0 0 0 0

301 LErEAS 0 0 0 0

303 HatE 0 0 0 0

305 Ha2S 0 0 0 0

306 A2 0 0 0 0

726 2r=0HYHI o 0 0 0
233 &rE0Hyl 0 0 ] 0

770 S HIB 0 0 0 0
EEEEEEE 0 0 0 0
301 YprE A 0 0 0 0

800 G HI 0 0 0 0
801 0dl bl 0 0 0 0
801 OllH(HI 0 0 0 0

200 XHEE K & 12,000 0 2,000 0
200 SIS 0 0 0 0
229 JIEFS AR 0 0 0 0
511 SIZl =3 0 0 0 0

230 RELMAS 12,000 0 2,000 0
236 TPy 0 0 0 0
405 XHAHFHSHIS 0 0 0 0

237 BII7HIS 12,000 0 2,000 0
405 THaHEISHIE 12,000 0 2,000 0
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CHEAIY S8 X|==M

i -

Egj’lgi?%) IHEERNE | SHEXEE

2 344,032 310,332 2,169,503 1,609,698

700 AMIHIE 344,032 308,332 2,157,943 1,599,993
EELE 344,082 308,32 2,157,943 | 1,599,093
722 CH@ALRIHI 344,032 308,332 2,157,943 1,599,993
101 ety 0 0 0 0
EEEELEE 0 0 0 0

201 wErE gy 70,001 74,208 187,200 209,822

202 OfH 0 0 23,520 20,160

203 YRFA| 0 0 1,500 800

206 M=) 28,341 25,304 456,660 422,280

207 & IfEH| 0 0 0 ]

212 Sc|=AH| 0 0 9.490 10,686

218 AREHH] 0 0 0 0

214 =8 R X ulHibl 125,150 93,290 1,132,269 731,085

215 S=H 116,540 109,440 394,304 153,560

216 YA - S 0 0 0 0

217 2 ALY 2| 0 0 3,000 3,000

218 BIISUANSS 0 0 0 0

220 fAEzei 0 0 0 48,600

301 2ptEaZ 0 ] Y 0

308 43 0 0 0 0

305 Hat=2s 0 0 0 0

306 EE= 0 0 0 0
726 S0 H] 0 0 0 0
233 43yl 0 0 0 0

770 geieltig 0 0 0 0
779 JlEtg eloltl 8 0 0 0 0
301 BtEAS 0 0 0 0

800 HiidlHl 0 0 0 0
801 CilH(HI 0 0 0 0
801 OliBIbI 0 0 0 0

200 A=A X E 0 2,000 11,560 9,705
220 EXAAHE 0 0 0 0
229 J|EFS R RS 0 0 0 0
NEEEEERE 0 0 0 0

230 REANAHS 0 2,000 11,560 8,705
235 AtEEH 0 0 0 0
405 I SHIS 0 0 0 0

237 BJIFUlE 0 2,000 11,560 9,705
405 THAHE SIS 0 2,000 11,560 9,705
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_61_






[71ZAE ]

ZH(700)AHRIHIE  Bh(710)EYHIE  ME:(722)CH3AIQH]  S:(200)2 24| (EH] M R)
ni =2
v AT = asa | Gl | =39

g Al 243,455 363,574 £120,119

700 AYHIE 212,255 344,374 ~132,119

710 YU 212,255 344,374 A132,119

722 CHHALRIY| 212,255 344,374 ~132,119

200 27| 206,255 336,374 ~130,119

201 ez 134,892 166,381 A31,489

01 AfREa|| 127,563 161,032 A33,469
O 7[2AIREEH| 10,000Yx6Qx12¢Y = 720
O EALE2 71 840
O A4 20,0009 x38FAX 128 = 720
O A3 20,0002Ix0,580Ax 129 = 120
D El(Z2E, Ha) 29 1,995
O Zet 237,5009x67lx15] = 1,425
O &4 142, 5009]x1 =48] = 570
028 287| 2alz 165,00094x10)x129 = 1,980
O of 40 A 24| 10,0008 x 1005 x 33| 3,000
[ 47| ZaH| 60,0009 x1CEx 128 = 720
O FalE2H 24z F| 25,0008€x15E %43 1,500
NIOFE HEAMIIZZREE ZF) 330,0008x124 3,860
O 4&HE 5,000,0008/x15 5,000
OFA[ Ao H== 150,0008x15 150
M ARu= 13,0002x125x 122 1,872
O SA7eH| 250,0008%23| 500
L1 O|AtE] 3G 3,000
o7E 70,0003x3%x 103 2,100
e JEni; 30,000¥x3Ex 103 800
O POHRIEE HES L2 A AH RA|T2H| 655,0002 x 12¢ 7,860
O 4RI HE A AR DBRA| 22 H| 1,100,0008 x 122 13,200
O s F2ae| 320,0009 x 129 = 3,840
O MAFHAA A 22|21 600,0008 x 12¢ 7,200
O HAPEA Y oY KM {222y 180,000 x 12% 2,160
O SH(0| 2| AMB] 72|22 b 120,0008 x 128 1,440
0 EH(0] 3| FA[&aY| 480,0009 x 12¢ 5,760
O DB WP A| AL SR 22| 300,0009 x 12¢ 3,600
O ol 72| #e2(y] 360,0009 x 12¢ 4,320
O PCES 2|92 CE2 M G2 pHalH] 250,0008 > 128 3,000
O AP A A 72 22H| 340,0008 x 12¢€ 4,080
O IPINQIE MH|A 248 700,0008 x 18] = 700
O FUHE2QUQUS A2 600,000 x 18] = 600
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[71=ZALE ]
2 (700)ArHH|E

(710)FYHIE Mg (22)ChAH|

=:(201) B2 A

In| =
Jé-%-m%--z.ﬁ g | Gha | 32
[ SSLEQFA Q1= A] Z4Al 500,000 x 13| = 500
O HiO|2 4 BHAZZ2 20 20| HlA HA 24,0008 % 28074 = 6,720
O Bo[2{A #AM T 2 T8 Zobpa| &2 4 ¢
1,000,000 x 17l = 1,000
O AHHE Bjo|2]A Al 29} 400,0009 x 1C4 = 400
O 7[HEA| A O A|AE] BAL SHO[MIA A 30,0002 x 537 = 1,590
O AIRE £XEQ 0] ¢ 280,0008 x 307} = 8,400
O B ZYAAGI(SO37001) AIE AAH|  5,500,0008 x 13] = 5,500
O AAE S5 HAA AR MH S2|22|H| 398,0008 x 129 = 4,776
O 20RIHEHLY|E o|F @] AL FA[R2(H|
400,0008! > 129 = 4,800
O 201 24 O 22| A|AE Oo|HE o[ dXa
5,000,000 x 14l = 5,000
O MABA A A SHDE 27} L0y 94,000x2074 = 1,880
O 2AEES 32 4,000,0009 x 14 = 4,000
02 =529 7,329 5,349 1,980
O eh=BEEE| It 1,000,000¥ x 18] = 1,000
O 3Ha3e] HE AER 25,0008 x 2094 % 124 = 6,000
OfH &L= 329
O gt 300810129 = 36
0 57| 2,4408x1 0= 128 = 293
202 ofd| 10,080 10,800 A720
01 ZLfoiH]| 10,080 10,800 A720
O7|2Yf+d S30H| 140,0009 x 6% x 128 = 10,080
203 YFF2H 1,000 1,000 0
07 AldF22H] 1,000 1,000 0
01 7|21 ZHALE] AEEEY| 1,000,0004 = 1,000
212 S2|F4H| 2,400 2,400 0
09 7[EIE2iSdH| 2,400 2,400 0
O A7l 252t 4] 8,0008 x 6% x 50 = 2,400
213 W& 53,683 63,593 29,910
O 28 ez 41,733 53,683 63,593 £9,910
O WsEFHL|(POOL) 25,000,0009 = 25,000
O 0l2{\d WSFH| 45,0009 x 289H x 18] = 13,005
O S| Y ALO[H 5 7,500 x 2899 x 13| = 2,168
QO LARIHAR QA WK 120,0008! x 13H = 1,560
O 2 uSE20U[{POOL) 10,000,0004 = 10,000
O CSS ZARE 150,0009 x 2A|7t x 23| = 600
DO NQIHEEE NS ARG 150,0009 x 2A|2t x 18] = 300
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[ 2182 ]

Z(700)AHIZ e (710)FYEI®  ME:(722)C{3ARH] S:(213) S HY| (T @ &2
I
= oae | ZHZ ) zg
O Ze0|4ng gAse 150,000 x 277 % 13] = 300
O YR ZASg 150,0008 x 2A[7Fx 13| = 300
O 22 HADS 2AL 150,0009 x 1A[Zt x 35| = 450
214 HRA DAY 3,000 3,000 0
05 £MLRH| 3,000 3,000 0
O AMEY[ M| 100,00094x2&Ex53| = 1,000
O 24t AB|ZH| MB| 1,000,0009x23| = 2,000
217 EMYZH| 1,200 1,200 Q
02 BEXU2Y| 1,200 1,200 0
O 2429 2| 100,0009 x 128 = 1,200
300 FH0|H 6,000 8,000 A2,000
303 ZAZ 6,000 8,000 A2,000
01 Zi= 6,000 8,000 A2,000
O 3¢ Aot = A &F 2,000,0008 = 2,000
0O A9 HOHIE A|ARD 4,000,000% = 4,000
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[Z1=ZAE ]

THQ00)AREHAE  E(230) R EAMRS  MIE

r-TI

g

=

(237)S71HHE  S:{405)AHFHSHIS

2 2 i
ST I L3E wua | §ig| =3
200 AHRZZ|Z 31,200 19,200 12,000
230 SEAAMZE 31,200 18,200 12,000
237 &7IHHE 31,200 16,200 12,000
405 2HHHEH|E 31,200 19,200 12,000
01 ZAHEEH| 31,200 19,200 12,000
OA+E AR 7 1,210,000x20C) = 24,200
O AZ2ME 3|2 2720 DBAY ¢ 7.000,0002x 14! = 7,000
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[ AGAHE ]
2:(700)AIRMHIE 710G RHE Mg (722)ci8ArgH  5:(200)2 2| (e - A
3 _— qua [ E85| 32
-8 - MNE-F Off At of <
£ A 1,098,891 1,103,734 ~4,843
700 ArgH|E 1,092,891 | 1,093,984 ~1,093
710 EH|R 992,891 993,984 A~1,093
722 THRHARRH| 992,891 993,984 £1,093
200 =4 692,746 739,039 £46,293
201 YURHREE| 216,536 228,319 211,783
01 ARz 84,609 96,459 A11,850
O 7|2AM583Y] 10,000%x10Fx12¢ = 1,200
0 SAMEA 7Y 1,451
C A4 20,0008x58 A% 128 = 1,200
O A3 20,9008dx 1A% 128 = 251
O 7|6 £8H|(822 5) 160,0008Ix524 = 800
O 2ol &2 50,0008x2F = 100
O B (ZgE, HA) 7 1,500
O Zat 450,0008x27x 18] = 900
O =4 150,0008x47x 18| = 600
O=8d 587 ¢at 280,000x 10 %124 = 3,360
[ Z4=2| By 60,000x40Hx 128 = 2,880
O FUR| 2|7 == 150,000¢x15 = 150
04z tig 13,0008x3Ex128 = 468
O | Y UZF A Qla| 10,0008Ix505 = 500
O A BULRAL AR 250,000x12¢8 = 3,000
O =AFE2lE o1z ZH| 25,0002x22H=23] = 1,100
O g3 8,650
O A YTRM Gl 50,00020x113¥x19 = 5,650
O H42 5 G2l 50,0009x10LUx6E = 3,000
O AHHAE M 0l 30,0008x100% = 3,000
O DHMHARS O Ol 30,0008x308 = 500
O B2t 2 ZARALZ A2 200,0008x23| = 400
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